S3 Table. p-values from t-tests comparing hair 15Nhair values from different provinces. p-values less than 0.05 are highlighted in grey. Values in italics represent provinces with unequal variance (Levene’s test). 
	Province
	AB
	SK
	MB
	ON
	QC
	NB
	NS
	NL

	British Columbia (BC)
	0.53
	0.43
	0.25
	0.13
	0.0076
	0.29
	1.7E-07
	0.043

	Alberta (AB)
	
	0.70
	0.13
	0.43
	0.069
	0.17
	2.7E-07
	0.027

	Saskatchewan (SK)
	
	
	0.14
	0.88
	0.44
	0.18
	3.0E-04
	0.026

	Manitoba (MB)
	
	
	
	0.030
	0.0014
	0.97
	0.0028
	0.23

	Ontario (ON)
	
	
	
	
	0.34
	0.051
	9.6E-09
	0.0083

	Quebec (QC)
	
	
	
	
	
	0.0041
	7.7E-12
	4.6E-04

	New Brunswick (NB)
	
	
	
	
	
	
	0.019
	0.29

	Nova Scotia (NS)
	
	
	
	
	
	
	
	0.43
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